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Topic:- Final QA

1) 80 workers, working together can do a piece of work in 50 days. But after 20 days, 50 workers
left. In how many days the remaining work is completed by the remaining workers?

¢0 FTHAR THATION Teh FHIH o Ra@Awmed qot & qhdrd. W 0 Ra@d, 9o FHIR fAga 9. o T
FIANR qThr F1A forelt Raarer qot wediar?

[Question ID = 294121]

1. 80 days / ¢o f&ad [Option ID = 1142540]
2. 50 days / go feaa [Option ID = 1142541]
3. 40 days / 8o T&a@ [Option ID = 1142542]
4, 30 days / 3¢ f&a@ [Option ID = 1142543]

Correct Answer :-
« 80 days / ¢o fga@ [Option ID = 1142540]

2) Mohit can complete a piece of work in 2 days and Jayant can do the same work in 3 days. They
agree to work together with Pinto and complete the work in a day. If they receive RS. 12,000 for the
work, how much should Pinto get?

AT v F1 2 RawiaAed qof F% vl T srd a F197 3 Rawaed o #& ardal. i e dad s
FIOATT AT Tt 0T Tt R WTe & 1o Yot Fa, AT AT FIRATHTS T8, 000 AaTel Ir8clier, A Rekem cmrefiar
et Aarrer ga?

[Question ID = 294122]

1. RS. 5,000 / &. 3,000 [Option ID = 1142544]
2. RS. 4,000 / &. ¥,000 [Option ID = 1142545]
3. RS. 6,000 / &. &,000 [Option ID = 1142546]
4. RS. 2,000 / &. 3,000 [Option ID = 1142547]

Correct Answer :-
e RS. 2,000/ &. R,000 [Option ID = 1142547]

3) If Sujatha walks at 4 km/h, she is late to her office by 10 minutes. But if she walks at 5 km/h,
she reaches 5 minutes before. How far is her office from her home?

Forar ¥ et/ 3 wrerq, o) foer faean sitfhased dravare ¢o Psfie R giar, wiq s &t o fBeaft/amr
MY TTerelt, @< ot o e ameft digiea. o foer sitfee e et oy ame?

[Question ID = 294123]
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1. 5 km / s f&siT [Option ID = 1142548]
2. 4 km / ¥ f#Y [Option ID = 1142549]
3. 5.33 km / 4.33 faair [Option ID = 1142550]
4, 4.67 km / ¥.6 faalT [Option ID = 1142551]

Correct Answer :-
e 5km /¢ faaT [Option ID = 1142548]

4) If P/(Q+R) = Q/(R+P) = R/(P+Q) = Kand (P+Q+R) = 0, then what is the value of K?

ST P/(Q+R) = Q/(R+P) = R/(P+Q) = K 3f0I(P+Q+R) = 0, aT K ¥ He7 fF<ir?
[Question ID = 294124]

.-1/ -2 [Option ID = 1142552]
.1/ % [Option ID = 1142553]

. 0.5 / 0.5 [Option ID = 1142554]
.-0.5/ - 0.4 [Option ID = 1142555]

D WN B~

Correct Answer :-
e -1/-¢ [Option ID = 1142552]

5) The compound interest on a certain sum of money Rs. X for 2 years at 10% per annum is Rs.
2100. What will be the simple interest on Rs. X for 2 years at the same rate of interest?

€. HT1.20% I THT SUTAF IFHATIT U Tshdle edToT TR0 HTE. d¥ AT SATSIeIA T IHATT 2 TUTHTS
WS AT oY 3 der?

[Question ID = 294125]

1. Rs. 2050 / &. 040 [Option ID = 1142556]
2. Rs. 2000 / &. Q000 [Option ID = 1142557]
3. Rs. 2100 / &. ¢00 [Option ID = 1142558]
4. Rs. 2010 / &. 0%0 [Option ID = 1142559]

Correct Answer :-
e Rs. 2000 / ¥. Qo000 [Option ID = 1142557]

B Production Overhead
B Other Expenses
W Direct Labour

m Direct Material
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Cost of production of sugar at a factory for a month under different heads are as follows:-

Direct materials — Rs. 12,00,000
Direct labour — Rs. 20,00,000
Production overheads — Rs. 35,00,000
Other expenses — Rs. 23,00,000

What is the difference between the central angles for the largest and smallest components of the
cost of production, if all items are placed on a pie-chart?

TS FRUTITATT TEIT ScUTCATHT J9Td9TedT MNYRT@Teer IcqTed @ Wlellel THTON 3118,

d ATATET @9 - . £3,00,000
%Hﬂﬂ‘- H.R0,00,000
3cUTG INET - F. 39,00,000
A T - T 33,00,000

Y IE IE-ATE ALY STCA, FATA T FHATT 3G HeATeAT TSHITAT PIATT fhcll BT HAA?
[Question ID = 294126]

1. 100° / g00° [Option ID = 1142560]
2. 140° / 2¥0° [Option ID = 1142561]
3. 48° / y¢© [Option ID = 1142562]
4. 92° / ’3° [Option ID = 1142563]

Correct Answer :-
e 92°/R3° [Option ID = 1142563]

7) Alphabets of the word “LAKE” are arranged randomly to form different words, without repetition
of any alphabet in a single word. A word is chosen at random. What is the probability that word
starts with L?

"LAKE" 37 erecrereiier HIVTCATEY 38T THIIETT 0w 35T IR o HIAT TSI e, FASTATHTS TIR FITITHTS
R ggeller T Fel. eregieh X g fas Feft. o L 3% a1e] o eregiet erarrar fei?

[Question ID = 294127]

1. 0.375 / ©.364 [Option ID = 1142564]
2.0.50 / .90 [Option ID = 1142565]
3.0.25 / .33 [Option ID = 1142566]
4.0.33 / .33 [Option ID = 1142567]

Correct Answer :-
e 0.25/ 0.3y [Option ID = 1142566]

8) Suraj sells goods at a discount of 10% and stills makes a profit of 5%. By how much percent had
he marked-up the price of the goods?

I 0% T &3 ATaT FAsht FIar Ior adidY ATar 9% FHT gl X T Arelrear e Aig e e et
3ma?

[Question ID = 294128]
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1. 16.67% / 25.89% [Option ID = 1142568]
2. 15% / 2$% [Option ID = 1142569]

3. 15.33% / £4.33% [Option ID = 1142570]
4.17.50% / 215.90% [Option ID = 1142571]

Correct Answer :-
e 16.67% / 2€.69% [Option ID = 1142568]

9) Raju lends Rs. X at simple interest, which amounts to Rs. 7200 after 2 years and to Rs. 10200
after a further period of 5 years. Find rate of interest.

TS TS ST T9A. X Taaha 3R el Sare 2 aufaay 39, uo0 WA 81 AT 4 auieia} TU. gooo
TFHA §Id. @ IToIeT Fel.

[Question ID = 294129]

1. 10% / %% [Option ID = 1142572]

2. 33.33% / 33.33% [Option ID = 1142573]
3. 12.50% / $2.90% [Option ID = 1142574]
4. 6.75% / £.3 % [Option ID = 1142575]

Correct Answer :-
e 10% / 2°% [Option ID = 1142572]

10) Let X = 753321. When Y is added to X, (X + Y) becomes a multiple of 9. What is the minimum
value of Y?

FHSATX = 753321 X ALY Y Asfaeard (X + Y) qegT & =1 07 qefdl. O Y F At 7o frelr?
[Question ID = 294130]

1. 6 / & [Option ID = 1142576]
2.5/ 4 [Option ID = 1142577]
3.3/ 3 [Option ID = 1142578]
4.0/ 0 [Option ID = 1142579]

Correct Answer :-
e 6/ ¢ [Option ID = 1142576]

11) Vimal and Kamal sells their respective watch at Rs. 2000 each. Kamal making 20% profit on
cost and Vimal making 25% profit on cost. What is difference between the cost price of the two
watches?

e 7 FA I e FERT TZATS TAHY 000 FTYITAT [Ahell. FA o FhANET 0 TFF AT AT T AT o1
fRaeiaR 2y = T ST T BN TSABAT A FhAchAtia wF fhdr?

[Question ID = 294131]

1. Rs. 166.67 / &. ¢&&.6 [Option ID = 1142580]
2. Rs. 66.67 / &. €£.81 [Option ID = 1142581]

3. Rs. 666.67 / &. €&&.6b [Option ID = 1142582]
4. Rs. 267.66 / &. €.6& [Option ID = 1142583]
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Correct Answer :-
e Rs. 66.67 / ¥. &&.61 [Option ID = 1142581]

12) Two unbiased dice are rolled in succession and nhumber appearing on them is noted. What is the
probability that both numbers are prime numbers?

&l 7 gTdoledT SISH T GraITS fhtaedr 3for 3nfor caray Aumar g3 Al Fell. S T&ar =T
IrgogT reFgar fhd amg?

[Question ID = 294132]

1. 0.40 / o.80 [Option ID = 1142584]
2. 0.50 / o.90 [Option ID = 1142585]
3.0.33/ .33 [Option ID = 1142586]
4. 0.25 /0.24 [Option ID = 1142587]

Correct Answer :-
e (.25 /0.2y [Option ID = 1142587]

13) Ratio of total surface area of two cuboids is 25:81. What is the ratio of the volume of the two
cuboids?

2l HeATH =T THUT JESHIITEAT &R 0N :9:¢ ¢ HTE. X Gl TeThd Iedl Heathasrd JONce} fohell?
[Question ID = 294133]

1. 625 : 6561 / &€39: €42 [Option ID = 1142588]
2. 625 : 729/ €39 : bR [Option ID = 1142589]
3.125: 729/ 239 : bR [Option ID = 1142590]
4,125 : 81/ ¢34 : ¢¢ [Option ID = 1142591]

Correct Answer :-
e 125:729 /2% : bR [Option ID = 1142590]

14) 3 numbers X, y and z are in arithmetic progression, such that x + y + z = 24 and x*y*z = 440.
What is value of y?

3 HEAT X, y 3TTOT Z AT 0T AUNAET ATFR AR Y, TTT X + y + z = W IO x*¥y*z = ¥go, Wy T {eA
frd?

[Question ID = 294134]

1. 8 / ¢ [Option ID = 1142592]
2. 12 / ¢ [Option ID = 1142593]
3. 10 /g0 [Option ID = 1142594]
4. 4 / ¥ [Option ID = 1142595]

Correct Answer :-
e 8/ ¢ [Option ID = 1142592]
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15) Compound interest earned on Rs. P at 10% per annum in the second year is Rs. 1320. Find P.

T.HT. 2% T & P I gu=a1 auf fA@Toa Thdle 31T T £320 3R, o P ¥ 7o ale,
[Question ID = 294135]

1. Rs. 30000 / &. 30000 [Option ID = 1142596]
2. Rs. 24000 / &. yooo [Option ID = 1142597]
3. Rs. 10000 / &. toooo [Option ID = 1142598]
4. Rs. 12000 / &. %2000 [Option ID = 1142599]

Correct Answer :-
e Rs. 12000 / &. ¢R000 [Option ID = 1142599]

16) What is the ratio of average of first 20 whole numbers to average of first 20 natural numbers?

UfRedT R0 ot FEITEAT TR 9fReT 20 Aufite wearear auad @ o fHdr?
[Question ID = 294136]

1. 19:21 / ¢R:3¢ [Option ID = 1142600]
2. 1:1/ 2:¢ [Option ID = 1142601]

3. 19:20 / 8R:20 [Option ID = 1142602]
4, 21:23 / 2:33 [Option ID = 1142603]

Correct Answer :-
e 19:21/ ¢R:3%¢ [Option ID = 1142600]

17) At what rate percent per annum a sum of money becomes four times of itself in 32 years? (If
simple interest is reckoned)

&. 91, fhd) SUTSIEIA T IFhA 3 ALY IRYC g1a? (SR IS ATt Al aX)
[Question ID = 294137]

1. 9.375% / R.364% [Option ID = 1142604]
2. 6.25% [ €.2$% [Option ID = 1142605]
3. 8.33% / ¢.33% [Option ID = 1142606]
4. 3.75% / 3.98% [Option ID = 1142607]

Correct Answer :-
e 9.375% / R.364% [Option ID = 1142604]

18) A 1000 gm salt solution contains 40% salt in it. How much salt should be added to make it
60%7?

TSHT 2000 IH &TR STAUITHEN ¥o0%0 &I ATed. o THIUT §0% FIVITHTST IATHEY fFdT &R A Aercdier?

[Question ID = 294138]

1. 200 gm / Q00 A [Option ID = 1142608]
2. 500 gm / oo 3& [Option ID = 1142609]
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3. 400 gm / oo I [Option ID = 1142610]
4, 320 gm / 320 3 [Option ID = 1142611]

Correct Answer :-
e 500 gm / oo 31 [Option ID = 1142609]

19) The ratio between the speeds of driving their individual cars by Sid and Rid is 3:4. If time taken
by Sid to cover a distance is 64 minutes, then what is the time taken by Rid to cover the same
distance?

g anfor Re grear Fri=ar 39mr yAor 3:4 3. S REAT vame a3 IR FUIEd &8 AR amra srade &)
faad 3T IR FIogrard) Near fFdt 3@ amd. [Question ID = 294139]

1. 56 mins / s& fAsiIc [Option ID = 1142612]
2. 64 mins / &% fAsiC [Option ID = 1142613]
3. 85.33 mins / ¢4.33 f&siIc [Option ID = 1142614]
4, 48 mins / ¥¢ T&AsfIE [Option ID = 1142615]

Correct Answer :-
e 48 mins / 8¢ fA=TE [Option ID = 1142615]

20) pivide 680 among A, B and C such that A gets 2/3" of what B gets and B gets 1/4 of what C
gets. Now the share of C is:-

A, B 3101 C 7tiier 680 = fA3TaIT 1 7gurst A &1 2/3 Y fAad 3nfor B Famardy C Ad o 1/4 3¢, 31rar C arer
AT 312~

[Question ID = 294140]

1. 400 [Option ID = 1142616]
2. 200 [Option ID = 1142617]
3. 350 [Option ID = 1142618]
4. 480 [Option ID = 1142619]

Correct Answer :-
* 480 [Option ID = 1142619]

Topic:- Final LR

1) Complete the following Series.

Frelier @ ot F1
b /T 216/ 113 % | 121 16 /%% | 4096 21/ ?
215 RER! [Foq% [

[Question ID = 294342]
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1. 441 / yy¢ [Option ID = 1143420]
2. 5124 / 423y [Option ID = 1143421]
3. 144 / 983 [Option ID = 1143422]
4. 20 / R0 [Option ID = 1143423]

Correct Answer :-
e 441 / ¥¥2 [Option ID = 1143420]

2) Complete the following Series.

Grelter Qf@aT qut FI
344 |15 5 35 Fi 17 ?
feu | 1w | fa | faw
e

[Question ID = 294343]

1. 13/ ¢3 [Option ID = 1143424]
2.99 / <% [Option ID = 1143425]
3.9/ [Option ID = 1143426]

4. 11/ 23 [Option ID = 1143427]

Correct Answer :-
e 11/ ¢¢ [Option ID = 1143427]

3) Complete the following Series.

Qrelter @l qot FI
343 /3%3 | 1331/ 2107 | 4913/ 6859/ £
133¢ RR S £223 AR

[Question ID = 294344]

1. 9883 / ’¢¢3 [Option ID = 1143428]
2. 12167 / 228 [Option ID = 1143429]
3. 8439 / ¢43R [Option ID = 1143430]
4. 9261 / R3¢ [Option ID = 1143431]

Correct Answer :-
o 12167 / €%&L [Option ID = 1143429]

4) Complete the following Series.

Qreler @l ot FI
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4/¢ 36/ 3% 144/ 3¢% | 400/ 400 | 900/ %00 |?

[Question ID = 294345]

1. 1800 / t¢oo [Option ID = 1143432]
2. 1749 / 2648 [Option ID = 1143433]
3. 1764 / 2u&% [Option ID = 1143434]
4. 1781 / t¢t [Option ID = 1143435]

Correct Answer :-
o 1764 / 2u&¥ [Option ID = 1143434]

5) Complete the following Series.

Grelter ef@eT qut FI

2401/ 3%0% | 3701/39c% | 4801/ %¢o? | 6501/ %08 | 8001/cC00d |7

[Question ID = 294346]

1. 10101 / %0202 [Option ID = 1143436]
2. 10001 / goo0t [Option ID = 1143437]
3.9901 / ’%e¢ [Option ID = 1143438]

4. 11001 / 2800 [Option ID = 1143439]

Correct Answer :-
e 10101/ gog0¢ [Option ID = 1143436]

6) If in a code language:-

FROM = 52;

VILE = 48; and

TOUR = 74;

Then in the same language, how would ZOOLOGY be written?

Aihfas HMHAed s)

FROM = «3;

VILE = y¢; 3mfor

TOUR = bY;

T AT "ihfas dMAEY, ZOOLOGY T e FHT fAgIaT Séer?

[Question ID = 294347]

1. 96 / R& [Option ID = 1143440]

2. 114 / 238 [Option ID = 1143441]
3. 116 / 225 [Option ID = 1143442]
4. 115 / 239 [Option ID = 1143443]
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Correct Answer :-
e 115/ 229 [Option ID = 1143443]

7) A y-E2-13-0%-# /A, -E3—-1,-0%- #
Which of the following shall come in place of “"#"” in the given series?

R e afeda “#” <ar Yol Frr Aga?
[Question ID = 294348]

1. T / Ty [Option ID = 1143444]

2. U5 / Us [Option ID = 1143445]
3. Us / Uy [Option ID = 1143446]

4, U / U® [Option ID = 1143447]

Correct Answer :-
« Us / Uy [Option ID = 1143446]

8) If in a code language:

GET = 32;
KIN = 34 and;
HOP = 39

Then, in that language, YEN shall be written as:-
SR A fas ANHEd:
GET = 3%;

KIN = 3y 31mfor;
HOP = 3%

T, AT Fidkfas dA¥Aed, YEN &7 2reg Fa1 fadier sigar?
[Question ID = 294349]

1. 46 / 8& [Option ID = 1143448]
2. 44 / ¥ [Option ID = 1143449]
3. 45 / ¥s [Option ID = 1143450]
4. 42 [ ¥ [Option ID = 1143451]

Correct Answer :-
e 44 / ¥y [Option ID = 1143449]

9) If in a code language:
FORTUNATE is written as ENQSTMZSD; How would PNEUMONIA be written in the same language?

SR gidfa® smeaed:
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FORTUNATE &T 2rsg ENQSTMZSD 31&T fagiar SraY; aX oIra SAed PNEUMONIA T 2Tsg &4T fagiar sga?
[Question ID = 294350]

1. OMDSLOMHZ [Option ID = 1143452]
2. OMDTLNMHZ [Option ID = 1143453]
3. OMDUNLMHZ [Option ID = 1143454]
4. OMDTLMNHZ [Option ID = 1143455]

Correct Answer :-
e OMDTLNMHZ [Option ID = 1143453]

10) If in a code language:

STOP is written as PTOS;
LIKE is written as EIKL

How would CRUSTACEAN be written in the same language?
ST Aihfas HTYHed:

STOP &T 2rsc PTOS 33T fagyerr Sray;
LIKE &T 2T EIKL 3raT fardler sar

X T HALY CRUSTACEAN & 2lsg &dT fagiar sréer?
[Question ID = 294351]

1. NRUSTACDAC [Option ID = 1143456]
2. NAECATSURC [Option ID = 1143457]
3. CRUSTACEAN [Option ID = 1143458]
4. NRUSTACEAC [Option ID = 1143459]

Correct Answer :-
o NRUSTACEAC [Option ID = 1143459]

11) If the first two Alphabets of the names of each month of the English calendar are to be exactly
reversed without changing the rest of the spelling, which of the following month shall appear fifth
from the start in an ordinary English dictionary?

g1t ReeTgRiFdier yeds AfRar=ar sAmardier aftedn gl 37aRET 5 & 3¢ HedTd AT Frehra WA 7
T, @raltel YhY FIOTAT ARAT ATHATT SIS AT IraedT HATHET AST?

[Question ID = 294352]

1. February / SgarY [Option ID = 1143460]
2. September / Fc¢sx [Option ID = 1143461]
3. October / 3iTeFelsR [Option ID = 1143462]
4, December / f3&sX [Option ID = 1143463]

Correct Answer :-
« December / f3&sX [Option ID = 1143463]
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12) In a certain code language:

% ~ means Mobile Phone;
) & means Car Van;
%o ) means Mobile Car.

How would Van Phone be written in the same code language?
w1 fafdrse @ikfas samae:
% " FEUTS AGTSd B,
) & FEUIS FR FeA;
% ) FEUTS AN FR

T SET BT 8T 2T AT Hihfad AT FHAT fger siSe ?
[Question ID = 294353]

1. & ~ [Option ID = 1143464]
2. % ~ [Option ID = 1143465]
3. A % [Option ID = 1143466]
4. % & [Option ID = 1143467]

Correct Answer :-
o & ~ [Option ID = 1143464]

13) How many times does the various pair of vowels appear in the given series in the chronological
sequence as they would appear in an ordinary English dictionary?

HATT S ASEHILT el fGeledT FAITAT IIANSAT ST Tlelel ATfoidhd fohd! deT NI Gaara?

EITAOEUUOAIOEOAUIUEIOUUE
[Question ID = 294354]

1. 4 / ¥ [Option ID = 1143468]
2.7/ [Option ID = 1143469]
3.6/ & [Option ID = 1143470]
4.5/ 3 [Option ID = 1143471]

Correct Answer :-
e 7/ [Option ID = 1143469]

14) If Birju is the son of the brother of Gopi who is the father of the brother of Gopal, how is Gopal
related to Birju?
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S TS &1 MR strare F9m 38 of MYTeredT $iTar ISk HI0T Hed, X Mdrera faspelt A1 w7 3me?
[Question ID = 294355]

1. Nephew / &1 [Option ID = 1143472]

2. Cousin / Feld #13 [Option ID = 1143473]
3. Uncle / =T [Option ID = 1143474]

4. Grandfather / 3TitaT [Option ID = 1143475]

Correct Answer :-
« Cousin / eI #13 [Option ID = 1143473]

15) If:

A & B = A is B's sister;
A ~ B = Ais B's wife; and
A!B = A is B's daughter,

Then, what relationship can be derived from the following status?
oI

A 3rfor B = A € B =Y afgor 3m1g;
A ~ B = A & B dt gcsit 3mg; anfor

A!B = A ¢l B Feralt 3,
T, relter Feudawst Fore A1 gt A2
[Question ID = 294356]

1. Ois H's Uncle / O & H =T a1ehT 3¢ [Option ID = 1143476]

2. His O's Uncle / H & O AT T 31Te [Option ID = 1143477]

3. His O’s Father / H 8T O T g3reT 31g [Option ID = 1143478]

4, O is H’s Grandfather / O & H o 31TSitaT 3iTed [Option ID = 1143479]

Correct Answer :-
e Ois H’s Uncle / O 8T H dr &It 31T [Option ID = 1143476]

16) Looking at a photo, Prerana said that, “This person in the photo is the only child of the nephew
of my husband’s uncle”. How is the person in the photo related to Prerana?

PIEIHS T, YO FgOIl), " Brevelier & sqFcll AT TlIAqT FTHTAT HIATT THed T JA 3Te. " Brereie
SgFd WOMAIEGT 1 AT 3Tg?

[Question ID = 294357]

1. Grandson / =T [Option ID = 1143480]
2. Wife / UceAt [Option ID = 1143481]

3. Daughter / o3l [Option ID = 1143482]
4, Mother / 3Ts [Option ID = 1143483]

Correct Answer :-
« Daughter / #Feref [Option ID = 1143482]
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17) If a family of 8 consists of at least 2 fathers, 3 wives, 2 grandchildren. There would be a
minimum of how many women in the family?

¢ VETATSAT FEATHEA FHlahA! 2 T2, 3 Teell, 2 ATAAS AR, T T FEAHEA Fotasa! el afgar sracier?
[Question ID = 294358]

1. 3/ 3 [Option ID = 1143484]
2. 8/ ¢ [Option ID = 1143485]
3.6/ & [Option ID = 1143486]
4. 2 / 2 [Option ID = 1143487]

Correct Answer :-
e 3/ 3 [Option ID = 1143484]

18) My wife’s brother’s wife’'s mother-in-law’s son-in-law would be related to my wife’s mother-in-
law as her:-

ATEAT YA 1T HTETeAT Toad 1edT ARGEAT SITEATET ATFAT ToetredT ARl F1 A1 3Me? [Question ID = 294359]

1. Grandson / =T [Option ID = 1143488]
2. Husband / gdT [Option ID = 1143489]
3. Son / #eram [Option ID = 1143490]

4. Nephew / &1 [Option ID = 1143491]

Correct Answer :-
* Son / Hefam [Option ID = 1143490]

19) How would Manmeet be related to the wife of the grandson of Manmeet’'s mother?

ATHITTAT HTETAT ATTATEAT UcA I Iad AARITT ATd F1T 31¥? [Question ID = 294360]

1. Father-in-Law / GTERT [Option ID = 1143492]
2. Father / @3Yer [Option ID = 1143493]
3. Uncle / et [Option ID = 1143494]
4, Grandfather / 3TsitaT [Option ID = 1143495]

Correct Answer :-
« Father-in-Law / 9181 [Option ID = 1143492]

20) If:

D is the Son of S;

W is the Husband of H;
S is the Daughter of H.
How is D related to W?

ol

D & S |T {3 31Te;
W &T H =7 gl 31¢;
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S &1 H <t agereh 3.

X D T W ®lad ATd w17 3¥a? [Question ID = 294361]

1. Grandson / =T [Option ID = 1143496]
2. Daughter / #eralt [Option ID = 1143497]
3. Son / #Heam [Option ID = 1143498]

4. Husband / 9diY [Option ID = 1143499]

Correct Answer :-
« Grandson / =T [Option ID = 1143496]

21) If Zeba was to write down all the digits that appear on the dial of on ordinary landline
telephone instrument, what shall be the sum total that she shall arrive at if she was to add each one
of them?

e vt A et @rdar?

[Question ID = 294362]

1. 44 / 83 [Option ID = 1143500]
2. 45 / ¥s [Option ID = 1143501]
3. 55 / 33 [Option ID = 1143502]
4.100 / %00 [Option ID = 1143503]

Correct Answer :-
e 45 /¥y [Option ID = 1143501]

22) The calendar for the year 2016 is same to the one which was used last time in which of the
following years?

GreerdhY FIoTeaT R RiwT 3oy 20¢€ = FeameRieT 3rrd) I gxci?
[Question ID = 294363]

1. 2007 / Re0ls [Option ID = 1143504]
2. 2000 / 000 [Option ID = 1143505]
3. 1988 / %’¢¢ [Option ID = 1143506]
4, 2012 / 0% [Option ID = 1143507]

Correct Answer :-
e 1988 / 2¢¢ [Option ID = 1143506]

23) While observing a special dice, Taahi notices that Numbers 1, 2, 3 are immediately adjacent to
one another. Which of the following would most probably be false about this dice?

ey srear fAdiaTor e srwdie, aTfgar daTa 3 A, ¢,3,3 T HF ANT THAFAT ATl HTed. A SFHAES
FrelterdehY FIT Tohrer HHUITHT AT H1E?

[Question ID = 294364]
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1. 4, 5, 6 are immediately adjacent to one another / ¥,9,& § o131 TehahTAT STST el 318 [Option ID = 1143508]
2. 2,3,4 are immediately adjacent to one another / ,3,% & SI<I TshARITAT STl 3MTed [Option ID = 1143509]
3. 4 and 6 are exactly opposite one another / ¥ 3TTOT & ThAFRAT 3FET [a&g 3ed [Option ID = 1143510]

4. 1 and 6 are exactly opposite one another / ¢ 30T & § TehdahIaT 3791ET fa&wg 3ed [Option ID = 1143511]

Correct Answer :-

« 4 and 6 are exactly opposite one another / ¥ 37If0T & TshAHTAT 3FTET TAFE 37ed [Option ID = 1143510]

24) Maalhi is playing with 3 ordinary dice and gets the numbers 2, 4, and 5 on each of those
respectively. What shall be the product of the nhumbers that shall appear on the sides which shall be
exactly opposite to the sides that Maahi got?

ATEY 3 VAT STEH U3l Woda 3T 0T frar 2, 8 31707 4 3 ATER 3 I e, AGer o o1 AT e

[Question ID = 294365]

1. 40 / 8o [Option ID = 1143512]
2. 30/ 30 [Option ID = 1143513]
3. 36 / 35 [Option ID = 1143514]
4. 14 / ¥ [Option ID = 1143515]

Correct Answer :-
e 30/ 30 [Option ID = 1143513]

25) A dice having six faces has been coloured Purple, Pink, Peach, Pearl, Yellow and Azure on each
of its sides. Further, if Purple side is exactly opposite to Pearl side and Peach is immediately
adjacent to Yellow and Azure side, which of the following shall be most probably true?

HET 919 ITAAT STEHAAT TeAF FTo(a} SA7asT, e, drar, Afrar T, Raat nfor smpreft T 3w, g, 7 St
are] Ao arsrear fawg fedar srter 3nfor drar Rawar @ smerel Eirear e 3@, a¥ Grelterdhy F1 aa
ITHOYTET AFIAT T2

[Question ID = 294366]

1. Peach Side is exactly opposite to Azure Side. / 4= sTo] 31epreiT STefeaT fa%®g 318 [Option ID = 1143516]

2. Peach Side is exactly opposite to Yellow Side. / 4 5] fgedr srefear fa&g 318. [Option ID = 1143517]

3. Pink Side is exactly opposite to Yellow Side. / I[elTelY aT] faear sTojzam fawg 31me. [Option ID = 1143518]

4. Pearl Side is immediately adjacent to Peach and Purple Side. / AT sTo] drer TOT STisTedT ST ASTRT 3TE.
[Option ID = 1143519]

Correct Answer :-
« Pink Side is exactly opposite to Yellow Side. / I[eITelY aT] fawar sTsfear fa®g 31g. [Option ID = 1143518]

26) Wafaa wants to colour all sides of a particular cube, so, what is the minimum numbers of
colours she needs to use such that no two adjacent sides have identical colours?

TPT AT THT SIF@IATTAT e ATS[AT 1T GATIAT HTE, AITAAT QNeT dTs(aT T RET A5 7% 7ol forar frelY o amw
FTOYTET ITTI T 3MTe?

[Question ID = 294367]
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1. 3/ 3 [Option ID = 1143520]
2.2/ 2 [Option ID = 1143521]
3.6 / & [Option ID = 1143522]
4.5/ 4 [Option ID = 1143523]

Correct Answer :-
e 3/ 3 [Option ID = 1143520]

27) One big cube which is painted Silver on all the sides is cut into 125 smaller cubes of equal size.
How many such smaller cubes shall have no paint on their face?

T AT Tadt T AT T ANGAT SlFadTd 29 FHIA HHNT 6T Slhad Hraal. careariahy et ogmer
BFHATGT ATl (AT HPIET T Aqd?

[Question ID = 294368]

1. 8/ ¢ [Option ID = 1143524]
2.9/ [Option ID = 1143525]
3. 27/ Q0 [Option ID = 1143526]
4. 16 / 25 [Option ID = 1143527]

Correct Answer :-
e 27 /R [Option ID = 1143526]

28) Queenie is seeing time in her watch through a mirror. She can see the time as 6.30 in the
mirror. What time shall it be actually at that instant?

fFasit 3mRena foeaT ugamedia 3% UTgd. degT e fA<ar gsamaId &.3¢0 arstere fadrd. aX caad! @ favd! arsrer
HTg?

[Question ID = 294369]

1. 6.30 / €.30 [Option ID = 1143528]
2. 5.30 / 4.30 [Option ID = 1143529]
3.12.30/ 2R.3¢ [Option ID = 1143530]
4. 1.30/ %.30 [Option ID = 1143531]

Correct Answer :-
e 5.30/ 4.30 [Option ID = 1143529]

29) Pratap’s clock strikes once at 1 o’clock, twice at 2 o’clock and so on. It takes exactly 6 seconds
to finish its striking at 3 o’clock. How much time would it take to strike at 9 o’clock?

TATI=AT TSITHT ¢ TSIl ¢ SIHT ST, S aTerdT R 3% TSI MO ATHATOT I SNk ISl Il 3 qToIcll S
JSUYTHTS & Vehe ARTATT dX & TSTAT Sl TSUATHTSY <ITelT fohelY 35 aTater?

[Question ID = 294370]

1. 21 seconds / % ¥ehe [Option ID = 1143532]
2. 24 seconds / Y ¥ehe [Option ID = 1143533]
3. 18 seconds / ¢¢ g [Option ID = 1143534]
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4. 12 seconds / 2R g [Option ID = 1143535]

Correct Answer :-
o 24 seconds / % Hehe [Option ID = 1143533]

30) If Tim’s watch loses 4 seconds every 40 minutes, it shall take how many hours to lose 60
minutes?

SR AT 391 UAF ¥o Aierar ¥ Vehg AT Usd 3Ad, a¥ &o fAAE AR ysvarardt caren et 3e amter?
[Question ID = 294371]

1. 3600 / 3600 [Option ID = 1143536]
2. 600 / &oo [Option ID = 1143537]

3. 4000 / Yooo [Option ID = 1143538]
4. 36000 / 36000 [Option ID = 1143539]

Correct Answer :-
e 600 / &oo [Option ID = 1143537]

31) In 12 hours, how many times are the minute and hour hands of an ordinary clock exactly in
opposite direction to one another?

22 ATAEY, AT USATSTAEY fAeIE F1eT T arT FieT fhdl 3T vhaAwar fAwg A 3rdara? [Question ID =
294372]

1. 24 / ¥ [Option ID = 1143540]
2. 12/ 22 [Option ID = 1143541]
3.11/ ¢¢ [Option ID = 1143542]
4, 22 / 32 [Option ID = 1143543]

Correct Answer :-
e 11/ ¢¢ [Option ID = 1143542]

32) Kewal, a resident of Jodhpur is running towards the North direction at 5 p.m. on a clear summer
evening. His shadow shall most likely be falling towards which direction?

SIEQT TGOTRT Fael 3egTodTalel UHT fATeT WIAHT@! 4 ATSTaT Scad feAet T ATeTelT. T |rdel Hiorear farer
SuAT SO e me?

[Question ID = 294373]

1. South / gf&ror [Option ID = 1143544]
2. East / 9@ [Option ID = 1143545]

3. West / gfaeT [Option ID = 1143546]
4, North / 3caR [Option ID = 1143547]

Correct Answer :-
+ East / q& [Option ID = 1143545]

33) If South-East was to become North, North-East to become West and so on, then, West shall
become which of the following directions?
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S 37 fe 3ea¥ aetel), Sane fyem afRersr aetel nfor aryaATer 02, @, afvere feam @relterd<hr Hore e s er?
[Question ID = 294374]

1. South-West / &f&¥oT — qfRaa a3 [Option ID = 1143548]
2. North-East / 3eai — T4 §21= [Option ID = 1143549]

3. South-East / &f&ToT-qd 31317 [Option ID = 1143550]

4, North-West / 3caR — 9fas arged [Option ID = 1143551]

Correct Answer :-
» South-East / &f&oT-9d 31a=r [Option ID = 1143550]

34) Ginii is going towards South, she then turns left and goes straight before turning left again.
Then she turns towards the East. She shall be facing which direction now?

=it aféiores oY, FeR ot sTdies a@a 3T IoeT SIS a@uATsHt WX I, Fa} ot gEFS aed. ot Jrar
POTCT el s Feet 33f) 3me?

[Question ID = 294375]

1. West / 9f€aar [Option ID = 1143552]
2. South / &fa&yoT [Option ID = 1143553]
3. North / 3caR [Option ID = 1143554]
4. East / 9d [Option ID = 1143555]

Correct Answer :-
« East/ qd [Option ID = 1143555]

35) Six friends, namely, Yummy, Yini, Yashika, Yagna, Yami and Yash are sitting around a round
table facing towards the Center. If:

Yini and Yami are sitting immediately next to one another;
There is at least one person sitting between Yummy and Yashika;

None amongst Yami and Yummy are sitting immediately next to Yashika; and
Yagna is not sitting exactly opposite Yash.

Which of the following is most probably true?

TFfY, R, e, derer, aret 3o er § wer AF-Afr v af@ER Taasad tEATIRSAls FeT awedr
. SR

Rfer 3oy arF veAdiTar a9t A9 sueaT IRT.

TFHY 3nfor AT FreAHeY FAaHH vh g swel I,

It 3fOT Tt Freardhy FoNE AT aTSfen FHAA AT, oY
T Feredn fawg fesrem awerel ATEN.

T WIS FI0T T Fed FHUATHT AFIAT H1R?

[Question ID = 294376]
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1. Yami is not sitting immediately next to Yummy. / ITHT J&#I<T STSfell SHelell sATeY. [Option ID = 1143556]

2. Yami is sitting immediately next to Yummy. / ITefY J&HI<aT STS[elT S&elell 3¢, [Option ID = 1143557]

3. Yashika is sitting exactly opposite Yagna. / T1fRrerT JaTATEAT ﬁw eIl sgerel 378, [Option ID = 1143558]

4. Yini, Yash and Yagna are sitting immediately next to one another. / TafeY, Z2r 3TOT 1T ThARITAT STSell
mﬁr 37Ted. [Option ID = 1143559]

Correct Answer :-
* Yami is not sitting immediately next to Yummy. / Iy JFHIAT STSTell SHelell AATET. [Option ID = 1143556]

36) Five persons, namely, H, K, O, Z and R are sitting on a straight bench at a railway station all
facing the same railway track. If:

Z and K are not sitting immediately next to one another;
R, H and K are sitting towards the right of Z;
At least one person is sitting on either side of K; and

O is sitting at one end of the Bench.

Which of the following is most probably false?

H, K, O, Z 30 R €47 UTT sqacl U1 {ed ¢hahs dis det Yod TEATN T T 99aX qHaid ATed. I
Z 31O K ThAHT=aT ASRT S8 ATéd,

R, H 31T K § Z =a1 357di2 T8aa 3med,

K =T STo[all FHIaHH! T et aaerell 31Te, Afor

O T SI<3T TahT TalT Tl 3TR.

QA 1T W HUITT AFIAT 38?2

[Question ID = 294377]

1. R is sitting at the exact middle of the Bench / R & sa<ar AETHTIT sl 3. [Option ID = 1143560]
2. O is sitting immediately to the left of Z / O §T Z 3T STATETS]ell SHefell 37e. [Option ID = 1143561]

3. Z is sitting to the immediate right of H / Z T H =T 357¢AT STsfell S8 elell 318, [Option ID = 1143562]
4. K sitting immediately to the right of R / K gT R TIT 337eaT dITS[ell S¥elell 37g. [Option ID = 1143563]

Correct Answer :-
* Zis sitting to the immediate right of H / Z g1 H =IT 3571 STofell S&elell 37e. [Option ID = 1143562]

37) If Orrita is to the South of Om but West of Omi who is to the East of Oscar and Omkar is to the
North of Oscar but West of Om. Who is towards the South-West?

SR 3R 3ier=ar AT e W AT afvaser ame St sitewTear e e Ifor JiER ST SeaFS

[Question ID = 294378]

1. Oscar / 3t [Option ID = 1143564]
2. Omi / 30f& [Option ID = 1143565]
3. Om / 3 [Option ID = 1143566]
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4, Orrita / 3NRaT [Option ID = 1143567]

Correct Answer :-
e Oscar / 3T [Option ID = 1143564]

38) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
C) If both I and II follow.

D) If neither I nor II follows.

Statement I: All Indian women are studious
Statement II: Rujuta is an Indian woman who failed her graduation final examinations last year.
Conclusion I: All Indian men are bad students.

Conclusion II: Rujuta shall need to appear for the examinations again in order to become a
graduate.

I 311Or 11 1 faerare 1 3oy I 31 &) ot 3med. o Sea’ Iy digar:

A) Faa AT I &) 1 I

B) ¥da farohr II &y 8 3y

C) a2 I 3T II oWy 8T e

D) I 3for IT &YeeY &) 8T AWeaH

faeme 1 : @ sielra aAfee srsary amed.

et 11: Sfar sl wfga ame it Arerean adff wediean sifaer adtetered aregediof simelt ame.
Aol I: 79 et gy arse fagamdt snee.

fAroT I1: Fo[drer gedier oarard) gret TRET SHUATH IS 3.

[Question ID = 294379]

1. A [Option ID = 1143568]
2. B [Option ID = 1143569]
3. C [Option ID = 1143570]
4. D [Option ID = 1143571]

Correct Answer :-
« B [Option ID = 1143569]

39) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
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C) If both I and II follow.
D) If neither I nor II follows.

Statement I: Prime time on Indian Satellite Television has changed the way Indians eat their dinner.

Statement II: Dinner is the most important meal for most Indian families.

Conclusion I: Television prime time is when most members of the Indian families are at home
together.

Conclusion II: Indian families prefer having Dinner together.

I 3for II a7 femar I 3nfor 11 31 gl faohr smed. g 3ok I9&Tor Algar:
A) F¥aa AT I o) 8 sraear

B) ¥da farohr II &y 8 3y

C) a2 I JOr II oWy gl e

D) I 3for II &)sE &) 81T AWeaH

e I: sl Wearse Saftgsreradier W a9 STRCAIT=AT TEEAT AqUITedT AT JegedT Aed.
ﬁm:l:awmﬁammmmmmmm.

o I: efregisreadier A&7 3 &1 aneft 3 3 SAegT HRAT Fearelel Tgas TEGFT Th AT T IrHa.
farolr IL: TRy Fgaiann sRieR Sarger 3rasa.
[Question ID = 294380]

1. A [Option ID = 1143572]
2. B [Option ID = 1143573]
3. C [Option ID = 1143574]
4. D [Option ID = 1143575]

Correct Answer :-
e C [Option ID = 1143574]

40) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
C) If both I and II follow.

D) If neither I nor II follows.

Statement I: An Apple a day by people at home keeps the Nurses idle at Hospitals.

Statement II: Apples are Red, Berries are Blue, and people who work for Airlines are called crew.


https://applink.adda247.com/d/XhqWf9lSap

Adda247

Conclusion I: All Nurses hate Apples.

Conclusion II: Airlines serve only Red Apples and Blue Berries to their passengers.

I 3for II a7 femarr I 3nfor 11 31 3l faohr amea. g 3ok Iy&Tor Algar:
A) F¥aa AT I o) 8 Iraea

B) ¥da farohr II amey 8 3y

C) X% I 30T II o] 81 3rHeard

D) I 3for II S\ &) 8T AHeATH

faene I: eRered Sirega feaarer Ast v whTEe Sonaard IR=RHET el saadrd.
femeT I1: wotes aTer 3rward, 38 fwar sraard, 3nfor TIReaTsew FEX FTH FIOMAT dlHr §F Fgordrd.

Aoty I: 9a R IwEIEemET 0T FIAT.
AT I1: TIRETEH qT=dT YAl $da dTel ghIde A0 [Aear 3 33 ward.
[Question ID = 294381]

1. A [Option ID = 1143576]
2. B [Option ID = 1143577]
3. C [Option ID = 1143578]
4. D [Option ID = 1143579]

Correct Answer :-
o D [Option ID = 1143579]

Topic:- Final Marathi

1) el aFaid Rear Sl A9y gAY s,
TN BT TS “HTY AT I T TAR ST 3Te.
[Question ID = 294101]

1. FI=A3T [Option ID = 1142460]
2. BT [Option ID = 1142461]
3. §&hd [Option ID = 1142462]
4, 31T&T [Option ID = 1142463]

Correct Answer :-
* FERA [Option ID = 1142462]
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2) grelie araTd Reprear sl 3T g3ty fAgsr
fadia foga Saaa sl Reweuda fewa = FEUTATd.

[Question ID = 294102]

1. 378 [Option ID = 1142464]
2. 39 [Option ID = 1142465]
3. 37 [Option ID = 1142466]
4, &7 [Option ID = 1142467]

Correct Answer :-
o 378X [Option ID = 1142464]

3) "relie arFaid Rarar Sl 39T o3 fAasr.
AR saFd FIUIAT WY 7o 8L
[Question ID = 294103]

1. 877 [Option ID = 1142468]
2. HTST [Option ID = 1142469]
3. 519 [Option ID = 1142470]

4. $79T [Option ID = 1142471]

Correct Answer :-
o YT [Option ID = 1142469]

4) grelier arergTd RraT AR AT 99 R,
STERTAT FEOTAT.
[Question ID = 294104]

1. @ef=g [Option ID = 1142472]
2. A= [Option ID = 1142473]
3. eafafa=g [Option ID = 1142474]
4, gref=g [Option ID = 1142475]

Correct Answer :-
« egfafdeg [Option ID = 1142474]

5) @relier araTd Reprear seit 39T gay fAgsT
d, 3, 3T, AT 7 R gegw g |
[Question ID = 294105]

1. Fa#Y [Option ID = 1142476]
2. 9T [Option ID = 1142477]
3. 9UAT [Option ID = 1142478]
4. It [Option ID = 1142479]
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Correct Answer :-
o HTIHAT [Option ID = 1142476]

6) qéIT reqran A1y faure faas.

Jarg’
[Question ID = 294106]

1. I + 37 [Option ID = 1142480]
2. Idr + 3¢ [Option ID = 1142481]
3. & + 3¢ [Option ID = 1142482]
4, 34T + J [Option ID = 1142483]

Correct Answer :-
o IAr + 37¢ [Option ID = 1142481]

7) gér arsera A9y fawg sryfar aree fAast.
\ml
[Question ID = 294107]

1. 37Y [Option ID = 1142484]

2. 313chY [Option ID = 1142485]
3. 379%Y [Option ID = 1142486]
4, T3¢y [Option ID = 1142487]

Correct Answer :-
« 379y [Option ID = 1142486]

[Question ID = 294108]

1. 8t [Option ID = 1142488]
2. AT [Option ID = 1142489]
3. #igreT [Option ID = 1142490]
4. #H=TT [Option ID = 1142491]

Correct Answer :-

o AT [Option ID = 1142489]

[Question ID = 294109]
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1. ATAT [Option ID = 1142492]
2. ATSNET [Option ID = 1142493]
3. AT&S [Option ID = 1142494]

4, ATBTS [Option ID = 1142495]

Correct Answer :-
o HATAT [Option ID = 1142492]

10) ST IERTET ITAR ATRI Fell STal AT HERTE &3
[Question ID = 294110]

1. 3%T&aR [Option ID = 1142496]
2. deITer [Option ID = 1142497]
3. AT [Option ID = 1142498]

4, THR [Option ID = 1142499]

Correct Answer :-
o JER [Option ID = 1142496]

11) TETEHT AT’ SR SITEITET H{eATH e i sma.

[Question ID = 294111]

1. IawETfdeg [Option ID = 1142500]
2. 37qUIfaRTe [Option ID = 1142501]
3. 37acRuTfdeg [Option ID = 1142502]
4, TqqTaT# [Option ID = 1142503]

Correct Answer :-

o acRurfdeg [Option ID = 1142502]

12) qdier QAT serem A7 faare fAast.

‘HERH

9

[Question ID = 294112]

1. e &9 7@ [Option ID = 1142504]
2. @Il %# [Option ID = 1142505]
3. 7@ HA [Option ID = 1142506]

4. §@ g9 S [Option ID = 1142507]

Correct Answer :-
* HW g9 SA [Option ID = 1142507]

13) TEYER & Uh 3rgar|
[Question ID = 294113]

1. 2re¢ [Option ID = 1142508]
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2. AscHHAg [Option ID = 1142509]
3. 318X [Option ID = 1142510]
4. AeqqPFhI0T [Option ID = 1142511]

Correct Answer :-
 AsqHAE [Option ID = 1142509]

14) qdier erserem A9 e fAas.
‘W’
[Question ID = 294114]

1. 31fd + 3ca#d [Option ID = 1142512]
2. 37 + 3ca# [Option ID = 1142513]
3. 31% + T [Option ID = 1142514]
4. 31t + A [Option ID = 1142515]

Correct Answer :-
o 3fa + 3cas [Option ID = 1142512]

15) qérel areyaRTET 3197 3 fAasr.

‘God 19T 3ThaT
[Question ID = 294115]

1. I&T [Option ID = 1142516]

2. X [Option ID = 1142517]

3. &g [Option ID = 1142518]

4, 399U [Option ID = 1142519]

Correct Answer :-
« X [Option ID = 1142517]

16) YEI aIFYERTET AT 3y fAasr.
[Question ID = 294116]

1. 3918 0T [Option ID = 1142520]

2. 3ureft IgToT [Option ID = 1142521]

3. %3 WI& @O [Option ID = 1142522]
4, 93 W1 3TasoT [Option ID = 1142523]

Correct Answer :-
o 39Tl TETOT [Option ID = 1142521]
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qéIer FEOT Ot 0.

IEE WIVIR ITAT
[Question ID = 294117]

1. T ARTUIR [Option ID = 1142524]
2. &9 VIR [Option ID = 1142525]

3. 1 fABUIR [Option ID = 1142526]
4, 1 FUTR [Option ID = 1142527]

Correct Answer :-
« 29 3UIR [Option ID = 1142525]

18) qéIeT FEOT qof FI.

T HTIT=T AFTO.

[Question ID = 294118]

1. g&=aT [Option ID = 1142528]

2. ATTEATE [Option ID = 1142529]
3. Selear™ [Option ID = 1142530]
4. TTeTOT=ATE [Option ID = 1142531]

Correct Answer :-
o Yo [Option ID = 1142528]

19) YA 3[g AT UE se; AasT.
‘wiearefier
[Question ID = 294119]

1. sredrer [Option ID = 1142532]

2. Shicaeier [Option ID = 1142533]
3. Ficareredrer [Option ID = 1142534]
4, Icredrer [Option ID = 1142535]

Correct Answer :-
o Shicgrer [Option ID = 1142533]

20) ‘T’ §T e EreTdhT HIVICAT YIhIT HTT HTelT T8 ?
AT gy fAas.

[Question ID = 294120]

1. &&eT [Option ID = 1142536]
2. 3RET [Option ID = 1142537]
3. 33rsiT [Option ID = 1142538]
4, TS [Option ID = 1142539]
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Correct Answer :-
* HERA [Option ID = 1142536]

Topic:- Final Electrician

1) The opposition offered to the flow of the current is known as:-

ASTTATETaT BIOTAT YA Wiellerdsh! F1T #7g0[ Hld@a a? [Question ID = 296223]

1. Resistance / Irer [Option ID = 1152344]

2. Conductance / 9dgeT [Option ID = 1152345]

3. Inductance / 9adsdr [Option ID = 1152346]

4. Electrostatic field / faegdfeufde & [Option ID = 1152347]

Correct Answer :-
« Resistance / T4 [Option ID = 1152344]

2) As per the colour code of the resistor, if the digit value is 8, then what is the colour of the band?

WrEeTear Wi fas TF FFARTHR, S AR Hed ¢ A, T AT TEITET 3T Horar 3da? [Question ID =
296224]

1. Black / shTesT [Option ID = 1152348]
2. Brown / 9T [Option ID = 1152349]
3. White / @the, [Option ID = 1152350]
4. Grey / Tr@T3T [Option ID = 1152351]

Correct Answer :-
o Grey / T@rSY [Option ID = 1152351]

3) If the voltage or current is varying with respect to time but has the same polarity, then it known
as:-

SR Regaeme far fagga yate e dead 3, 9T re (eREY) Yaar vardra Idd, a3
Fgurdid:- [Question ID = 296225]

1. Unidirectional source / TshfefIe &t [Option ID = 1152352]

2. Positve source / 9eT G [Option ID = 1152353]

3. Negative source / FoT @I [Option ID = 1152354]

4. A.C. voltage source / .. fdegcera @it [Option ID = 1152355]

Correct Answer :-
« Unidirectional source / Tsf&fRIe did [Option ID = 1152352]

4) A network is said to be when excitation and response terminals could be
interchanged.

StegT 3L ATTOT YfAATE 37T ITeY IeTagal Feoll TS A, AceT AT Acdhel Fged 1. [Question
ID = 296226]

1. reciprocity / 3/=dleadr [Option ID = 1152356]
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2. lamped network / 9saford sieas [Option ID = 1152357]
3. bilateral network / gfauaf™r sicass [Option ID = 1152358]
4. linear network / Y8 Acas [Option ID = 1152359]

Correct Answer :-
e reciprocity / 3=3l=adr [Option ID = 1152356]

5) The lowest energy state is known as:-

FgUIdId. [Question ID = 296227]

gAqH 3ofear feured

1. Excited / 3cafaid [Option ID = 1152360]

2. Normal / |THTT [Option ID = 1152361]

3. Radiating / 9rRofr (Xf3ufar) [Option ID = 1152362]
4, Critical / FgccardY [Option ID = 1152363]

Correct Answer :-
* Normal / 9THTT [Option ID = 1152361]

6) Which of the following is a poor conductor of electricity?

Freltertehr Horclt e fasram va fagrse arg 3me? [Question ID = 296228]

1. Aluminium / TegfATAT# [Option ID = 1152364]
2. Silver / @ér [Option ID = 1152365]

3. Copper / @i [Option ID = 1152366]

4, Diamond / f@T [Option ID = 1152367]

Correct Answer :-
« Diamond / &3 [Option ID = 1152367]

7) By measuring conductivity ‘o’ the mobility 'y’ can be calculated by using:-

qIgShdT ‘0’ T ATYT hedrd, Afaefiear ‘p’ d @relt MsErar 3TANT FET 0T FIaT 4. [Question ID = 296229]

1. Hall coefficient / gTeT 3[0Tieh [Option ID = 1152368]
2. Hall current / gfef drsT watg [Option ID = 1152369]
3. Hall effect / gfet RO [Option ID = 1152370]

4. Hall volatge / gTeT fdegcrarer [Option ID = 1152371]

Correct Answer :-
e Hall effect / gfer 9RO [Option ID = 1152370]

8) What is the unit of reverse recovery time?

Regd Repadl a1 ¥ vehe F1 3M? [Question ID = 296230]

1. Ns / TTH (7ggsT @ehg) [Option ID = 1152372]
2. Pf / diuws (RshitE) [Option ID = 1152373]

3. Mw / THSseY (FeTaed) [Option ID = 1152374]
4, PA / UT (AISRITIFIAR) [Option ID = 1152375]

Correct Answer :-
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* Ns / TA0H (sg¢+T dehe) [Option ID = 1152372]

9) Which types of robots are used in education?

e1fore SHTa FIoTeAT YHRY dleH I ATdra?
[Question ID = 296231]

1. Artificial intelligence / & fgHcdT 3relel [Option ID = 1152376]
2. General / G1ATT [Option ID = 1152377]

3. Industrial / 3iteatfA1s [Option ID = 1152378]

4. Hobby robot / gffsr T&ie [Option ID = 1152379]

Correct Answer :-
« Hobby robot / gifer J&te [Option ID = 1152379]

10) The binary nhumber system is also known as:-

ERAT §EAT (F{Y HaT YoTTelt) SUaTdaTST § A9 SEe 8-
[Question ID = 296232]

1. Base 2 system / 3{T&IX ? 9€dr [Option ID = 1152380]
2. Base 4 system / 3R ¥ 9gdr [Option ID = 1152381]
3. Base 6 system / 3TYR & Ugdr [Option ID = 1152382]
4, Base 8 system / 3TaIR ¢ Tgdr [Option ID = 1152383]

Correct Answer :-
 Base 2 system / 3T R Igdr [Option ID = 1152380]

11) The number 28 equals to in decimal.

GRMTET Tgelte ¢ e gde 31Me. [Question ID = 296233]

1. 256 / R9& [Option ID = 1152384]
2. 128 / 2:¢ [Option ID = 1152385]
3. 512 / 422 [Option ID = 1152386]
4. 120 / 220 [Option ID = 1152387]

Correct Answer :-
e 256 / 4€ [Option ID = 1152384]

12) Given symbol indicates which logic gate?

e feg Fivra dffors e gfaa #3a?
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[Question ID = 296234]

1. AND gate / TU=ST 31 [Option ID = 1152388]

2. OR gate / 3137 i€ [Option ID = 1152389]

3. NOR gate / TeI31I31R 31 [Option ID = 1152390]
4. NAND gate / TaTuT=1aT 3t [Option ID = 1152391]

Correct Answer :-
« OR gate / 331X 31 [Option ID = 1152389]

13) Devices located outside the CPU are known as:-

Hdfrrear aRy 3reedr 3UEHIOTHT 3 Fgurdrd. [Question ID = 296235]

1. Data / 3eT [Option ID = 1152392]

2. Bus / /8 [Option ID = 1152393]

3. Memory unit / A7 JfA€ [Option ID = 1152394]

4, Peripheral devices / 9RET 39a0T [Option ID = 1152395]

Correct Answer :-
e Peripheral devices / e 3gaor [Option ID = 1152395]

14) What is the processor speed of basic stamp microcontrollers BS1-IC modules?

IRF T AFFCed dreae-3mad Asgeasar NHATE! T F17 3r@a? [Question ID = 296236]

1. 20 MHz / 20 31T g¢a7 [Option ID = 1152396]
2. 8 MHz / ¢ #3T g¢aT [Option ID = 1152397]
3.4 MHz / ¥ R g¢37 [Option ID = 1152398]
4, 50 MHz / $o ®3T g¢aT [Option ID = 1152399]

Correct Answer :-
e 4 MHz /¥ #31 g¢aT [Option ID = 1152398]

15) A has complexity from 12 to 99 gates.

THT ALY ¢ o /R ATH FIFATFAS! JAAT. [Question ID = 296237]

1. medium scale integration / FEI# A0t HeheloT [Option ID = 1152400]

2. small scale integration / g A0fY HeheleT [Option ID = 1152401]

3. very large scale integration / Ta2mer Sofr HeheleT [Option ID = 1152402]

4, ultra large scale integration / 31fafaermer Soft Gehelet [Option ID = 1152403]

Correct Answer :-
« medium scale integration / #3EIH Fuft HeheleT [Option ID = 1152400]

16) The speed regulation of a series motor is than that of a shunt motor.

T A0 Aler=ar i AgaeT e Aeda 379d. [Question ID = 296238]

1. Same / GHAT [Option ID = 1152404]
2. Constant / 2R [Option ID = 1152405]
3. Varying / S&euTR [Option ID = 1152406]
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4. Poor / fa&se [Option ID = 1152407]

Correct Answer :-
« Poor / fagse [Option ID = 1152407]

17) EMF which always opposes the flow of a current in motor operation is known as:-

AT FETT THT I TaTET FIIA RN FIOMAT STATHAT FEUTATd.

[Question ID = 296239]

1. Counter / 7@%g [Option ID = 1152408]

2. Torque / @& [Option ID = 1152409]

3. Shaft torque / 3787 € [Option ID = 1152410]
4. Flux / ¥aTg [Option ID = 1152411]

Correct Answer :-
« Counter / Ta%g [Option ID = 1152408]

18) In DC motor, the dc supply is switched on with starting handle in the position.
At AreTHe, Rt QaeT Y FIoATET gist fPuda a3 g« Fam.

[Question ID = 296240]

1. OFF / s [Option ID = 1152412]

2. ON / =re] [Option ID = 1152413]

3. Neutral / 3173 (36T&eT) [Option ID = 1152414]

4. Reverse / 3ercar fgara (Reg¥) [Option ID = 1152415]

Correct Answer :-
« OFF / §¢ [Option ID = 1152412]

19) What is cylindrical in shape and mounted on the shaft?

FIUTCAT ST ST TSR TS 0T 378TaT (M) FwfASlY rAA?
[Question ID = 296241]

1. Poles / ¢d (4Tex) [Option ID = 1152416]

2. Yoke / 3 (J1e) [Option ID = 1152417]

3. Field windings / &11ar e (fhes argfesar) [Option ID = 1152418]
4, None of these / 3=T# & &I =1fg [Option ID = 1152419]

Correct Answer :-
* Yoke / S (3e) [Option ID = 1152417]

20) In which instant, the plane of the coil is perpendicular to the direction of the magnetic field?

FOTCAT THM, Figerd! A gahra aramedt &7 3r7a? [Question ID = 296242]
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1. Instant 4 / 99T ¥ [Option ID = 1152420]
2. Instant 3 / 99T 3 [Option ID = 1152421]
3. Instant 2 / 99T R [Option ID = 1152422]
4, Instant 1/ 9&aT ¢ [Option ID = 1152423]

Correct Answer :-
o Instant 1/ 9&9T ¢ [Option ID = 1152423]

21) Which part of the DC machine consists of the following functions?

1) To facilitate the collection of current from the armature conductors
2) To produce unidirectional torque in case of motors

IRAY TETAT FYUTT AT WrelTe FRf HAATI?

1) 3R AEHTIRGT ST HIgoTar FH qafaor
2) Aed=aT HeHTd il eid AATor HIor
[Question ID = 296243]

1. Brushes / eell (s721) [Option ID = 1152424]

2. Bearing / §31R3T [Option ID = 1152425]

3. Commutator / F#geex (faegayare) [Option ID = 1152426]
4, Shaft / e [Option ID = 1152427]

Correct Answer :-

« Commutator / F#geex (faegddarg) [Option ID = 1152426]

22) Which type of winding is mainly used in induction machines and synchronous machines?

gsIeT AR IO RAeTshiTd AR YRTEare FI0TeAT THRA aiEfese arRa Sa? [Question ID = 296244]

1. Open type winding / GeaT Jeh aTgf3aT [Option ID = 1152428]
2. Lap winding / o argf3ar [Option ID = 1152429]

3. Armature winding / 3R aEfEer [Option ID = 1152430]

4. Double layer winding / &fa&a{¥r arsf3er [Option ID = 1152431]

Correct Answer :-
+ Open type winding / GeaT 9ehR ar$f3ar [Option ID = 1152428]

23) What is defined as the distance measured between two coil sides which are connected to some
commutator segment?

Regavarer=ar 1€ @31 ANSAAT Fig=AT Al AL HATH FTF FgoTara? [Question ID = 296245]

1. Back pitch / #Tefrer T [Option ID = 1152432]

2. Pole pitch / 9ter far [Option ID = 1152433]

3. Winding pitch / asfser = [Option ID = 1152434]
4. Front pitch / @&RTer &= [Option ID = 1152435]

Correct Answer :-
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« Front pitch / ¥#RYe [ [Option ID = 1152435]

24) Demand meter is an example of which type of instrument?

ATeroft FHeT § FIUTAT THRTAT IYFHIOTY Teh 31807 38 ? [Question ID = 296246]

1. Recording instrument / 7oy 3gaoT [Option ID = 1152436]
2. Indicating instrument / e 39hI0T [Option ID = 1152437]
3. Integrated instrument / Hahfeld 39e0T [Option ID = 1152438]
4, Absolute instrument / trﬁﬂy‘rsq'eh—m [Option ID = 1152439]

Correct Answer :-
« Recording instrument / siguft 3geoT [Option ID = 1152436]

25) What is the % of error allowed for a single range (voltmeter or ammeter) for electrodynamic
instrument?

T Avfiean (sgieeHie faT ATHie) SIS RS SUFHIVITATS! 3eTAd TErdl eadhant Y 3r@e? [Question
ID = 296247]

1. 0.3% / ©.3% [Option ID = 1152440]

2. 0.2% / ©.3% [Option ID = 1152441]

3. 0.25% / ©.33% [Option ID = 1152442]

4. 1t03.5% / ¢ o 3.9% [Option ID = 1152443]

Correct Answer :-
e 0.3% / ©.3% [Option ID = 1152440]

26) What is the temperature coefficient of resistance at 20° for phosphor bronze?

BRBT FISTATST 0° ATIATATER AT ATTHTA 0TI HIT FHAT?
[Question ID = 296248]

1. 0.0039 / o.003R [Option ID = 1152444]
2.0.001 / o.00% [Option ID = 1152445]

3. 4x10°6 / yxto™® [Option ID = 1152446]
4. 1.72x10°8 / 2.103x¢0¢ [Option ID = 1152447]

Correct Answer :-
e 0.001 / o.00¢ [Option ID = 1152445]

27) Which type of error can be minimised with reduction of weight of the moving system?

aﬁaﬁaﬁwmwmmmgfrwﬁmmamﬁ?
[Question ID = 296249]

1. Frequency error / dRaRdT JEr [Option ID = 1152448]

2. Hysteresis error / geerefrerar (fg&eif@&) 7é [Option ID = 1152449]
3. Temperature error / dT9HATT g?r [Option ID = 1152450]

4. Friction error / &r§oT (fikerereT) T [Option ID = 1152451]
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Correct Answer :-
+ Friction error / &¥oT (fherereT) F<T [Option ID = 1152451]

28) Which method is also called as the concatenation of the induction motors?

FIUTAT TG SSFU AT NSV FHIUAT (Hirheald) I ST Fgordia?
[Question ID = 296250]

1. Pole changing / ¢a sgeroT [Option ID = 1152452]

2. Injecting slip frequency EMF into rotor circuit / Aex Tfheaed T aRARAT STATH 3id:80d (Soiae) HI0T
[Option ID = 1152453]

3. Cascade control / #¥&s 70T [Option ID = 1152454]

4, Kramer system / &R I90T [Option ID = 1152455]

Correct Answer :-
« Cascade control / S&hs f@I=oT [Option ID = 1152454]

29) is defined as the difference between the synchronous speed and the actual speed
of the rotor.

et aifas (RAsweT) Tt 3for areafas (TcgaT ) et IreaT SIFATT=AT HIhTeT kir: |
Fgurdid. [Question ID = 296251]

1. Slip / &9 [Option ID = 1152456]

2. Rotor reactance / JeX R3¥ere=a [Option ID = 1152457]
3. Ring / RaT [Option ID = 1152458]

4. Wound rotor / @138 JeX [Option ID = 1152459]

Correct Answer :-
e Slip / ™ [Option ID = 1152456]

30) Given equation represents which type of losses?
Pm = P> - P,

Frellel FHIHTOT HIOTAT FHRA JHATT GeAAA?
Pm=Py-Pc

[Question ID = 296252]

1. Rotor copper losses / YeX HIuR oJeaTeT [Option ID = 1152460]

2. Stator losses / ¥&eX FJATe [Option ID = 1152461]

3. Shaft losses / e siehdTeT [Option ID = 1152462]

4. Gross mechanical power losses / T&UT 1T 3o gTelr [Option ID = 1152463]

Correct Answer :-
+ Gross mechanical power losses / T&UT Jif3sh 3ofe gTei [Option ID = 1152463]

31)
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is the process of converting energy from some alternate form to electrical energy via a

process.
TETEAT T 3feaT FawaTae e Fofd SUIAROT FIvATSAT iR FguraTd. [Question ID =
296253]

1. Generation / fAf3dY [Option ID = 1152464]
2. Transmission / 9RYOT [Option ID = 1152465]
3. Distribution / fdaxoT [Option ID = 1152466]
4, Utilization / o [Option ID = 1152467]

Correct Answer :-
« Generation / fAf3dY [Option ID = 1152464]

32) Given figure indicates which type of four pole gramme-ring winding?

grelt el amepet R et amer-Ror arifegaran Fiorar yer geifaa?

[Question ID = 296254]

1. Cross section / sh& JerleT [Option ID = 1152468]

2. Equivalent armature circuit / TH%eT TR Afdhe [Option ID = 1152469]

3. Simplified equivalent armature circuit / Gersfiehc FaehaT 3Me=R e [Option ID = 1152470]
4, Complex Equivalent armature circuit / STfeel TaeReT 3R Tfehe [Option ID = 1152471]

Correct Answer :-
« Cross section / shie A2l [Option ID = 1152468]

33) The single conductor requires 30 ms to move through the uniform magnetic field of 5x10°
maxwells, find the average voltage generated in the conductor.

THT TI AGHTAT THAHTA 9x2o° HFHAS AT QATTA SATOAN 30 FAefsg amrard, T...eeens farafor gromr
T gy are e,

[Question ID = 296255]

1. 1.65V / 2.6 Tglec [Option ID = 1152472]
2. 1.66V / 2.£& cglee [Option ID = 1152473]
3. 1.67V / 2.6l Tglec [Option ID = 1152474]
4. 1,68V / 2.6¢ Tglec [Option ID = 1152475]
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Correct Answer :-
e 1.66V / 2.68 Tglec [Option ID = 1152473]

34) Given figure indicates which type of windings?

Frelle 3Tl FIOTAT YHRT arifesar geifaa?

[Question ID = 296256]

1. Performed armature coil / IXhIFs 3R Figer [Option ID = 1152476]
2. Lap wound coil / o9 a1338 &gl [Option ID = 1152477]

3. Wave wound coil / 39 a133 isel [Option ID = 1152478]

4. Two layer windings / fa€adig arsfar [Option ID = 1152479]

Correct Answer :-
« Two layer windings / &fa&adT argfsar [Option ID = 1152479]

35) Which type of windings is used in small induction motors and in small wound induction motors?

TET SSFU AT AT oIgTe AT S ACHALA FIVIEAT YHRY aRIfesT arater FA?
[Question ID = 296257]

1. Lap and wave windings / o9 3TfOT a¥eT ardifesar [Option ID = 1152480]

2. AC synchronous dynamo armature windings / THI Heh1feishfdegd-sif=3m=R arifesar [Option ID = 1152481]
3. Half and whole coil windings / 3r€f 3701 HYUT @iger ardfeser [Option ID = 1152482]

4. Chorded or fractional pitch windings / Sftargerd fear 3ifiek drer arifegar [Option ID = 1152483]

Correct Answer :-
+ Half and whole coil windings / 37¢f 30T HYT Siger arifegar [Option ID = 1152482]

36) has a load voltage characteristics in which the no load and full load voltage are

HEY A3 Sl RS IWaTd SAHEA AN AqATAT 0T Yot AT IFFATAT cglecs WAL .
[Question ID = 296258]

1. Flat compound generator / FHEZFT ST (Fefe U8 STaleX) [Option ID = 1152484]

2. Under compound generator / fa@eTa SIfa (313X 138 SteikeX) [Option ID = 1152485]

3. Over compound generator / 3ffct e STfale (3NegT HUTSHS STaeX) [Option ID = 1152486]
4, Welding generator / AT ST (ATes9T Sekex) [Option ID = 1152487]
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Correct Answer :-
+ Flat compound generator / HHEZF ST (Fei HUTFS Sieikex) [Option ID = 1152484]

37) The property that is measured by its maximum residual magnetic induction is known as:-

37T IO SATAT AT HEed A A AT SSRAACEART Aorel AT 1l FEUTAT.
[Question ID = 296259]

1. Interpole / 37TcREd ($eXdler) [Option ID = 1152488]

2. Saturationcurve / HYfeFal @k (FegXeeT &d) [Option ID = 1152489]
3. Shunt generator / 919 SIfAT (27 FT=keX) [Option ID = 1152490]
4, Retentivity / emRoTeferar (Refeefadh) [Option ID = 1152491]

Correct Answer :-
« Retentivity / gRoTeferar (Refeefadr) [Option ID = 1152491]

38) What is the value of solar constant?
HRIFT (W’ Fie¥ese) AT FE 38?2 [Question ID = 296260]

1. 1.39 kWh/(m?2-h) / £.3% fareiide/ arely get #iex [Option ID = 1152492]
2. 1.40 kWh/(m?2-h) / 2.yo fretde/ areft gt #fiex [Option ID = 1152493]
3. 1.41 kWh/(m2-h) / 2.t fReiide/ areft et #iex [Option ID = 1152494]
4. 1.42 kWh/(m2-h) / 2.4 felide/ areft @af #iex [Option ID = 1152495]

Correct Answer :-
« 1.39 kWh/(m2-h) / 2.3% frelide/ arelt @at #iex [Option ID = 1152492]

39) is a process of capturing waste heat from manufacturing.

ICUTGHATS HITASE FSAT AT HI0ATEAT Yiwdar FguTdrd. [Question ID = 296261]

1. Cogeneration / TgfAATOT (FIs=X2r=T) [Option ID = 1152496]

2. Topping cycle / effdar =gk [Option ID = 1152497]

3. Bottoming cycle / Stef&ar s [Option ID = 1152498]

4. Combined heat and power / HJec ST 37TTOT QreFcll (Fgerdl fge @ diaX) [Option ID = 1152499]

Correct Answer :-

« Cogeneration / TEfAATOT (e 2rT) [Option ID = 1152496]

40) The output of the windmill is given by:
YA ScuTee AGanT feer ST
[Question ID = 296262]

1. P = 2.13x1073 Adv3 kW [Option ID = 1152500]
2. P = 2.14x1073 Adv3 kW [Option ID = 1152501]
3. P = 2.15x1073 Adv3 kW [Option ID = 1152502]
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4. P = 2.16x1073 Adv3 kW [Option ID = 1152503]

Correct Answer :-
e P =2.14x10"3 Adv3 kW [Option ID = 1152501]

41) A is an open channel or a tunnel depending upon the powerhouse location.

L TF Gell arfgelt aT T S9TaT e, Y AereaRreaT TUEER Faeqs Hal.
[Question ID = 296263]

1. Spillway / 3tedT (9erd) [Option ID = 1152504]

2. Trash rack / @RT ST (2T {&) [Option ID = 1152505]
3. Surge tank / 3ealel €T (FeT ¢a) [Option ID = 1152506]
4, Tailrace / 3TasTeldrg (¢ol¥) [Option ID = 1152507]

Correct Answer :-
« Tailrace / 31dsierarg (¢erk®) [Option ID = 1152507]

42) In which process the water enters the surface strata of soil and makes its way downwards to
the water table?

FIOTCAT YA qToft ATA=AT ToSHTATAIT FaRT TaT FIA 0T $fsTemear A @relt ARTHHAT FIa? [Question
ID = 296264]

1. Transpiration / aTsAYcHwIeT [Option ID = 1152508]
2. Interception / 37aRfere [Option ID = 1152509]

3. Infiltration / 3id&&XoT [Option ID = 1152510]

4. Surface runoff / gsadrg [Option ID = 1152511]

Correct Answer :-
« Infiltration / 3/dE&ROT [Option ID = 1152510]

43) of transmission line is defined as the ratio of change in voltage at the receiving
end from no load to full load keeping the sending end voltage and frequency constant to the full load
voltage.

TRTAeT ardeeeiier AT SATEAT A1 S A e A1S FFA Tg0T 2ol FreesT AL seers ey
3eft F ST T AT AT TSI SErecor MO IRATRAT U F qUT S Sgleesr W .

[Question ID = 296265]

1. Regulation / f&&# =T [Option ID = 1152512]

2. Efficiency / srI&TadT [Option ID = 1152513]
3. Performance / ATIRT [Option ID = 1152514]
4, Power / 31T [Option ID = 1152515]

Correct Answer :-
 Regulation / fa&eT [Option ID = 1152512]
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44) Given figure indicates which type of insulator used in overhead transmission?

ferear ampelia alier dyomered Fiorear yHRET fRegarus geifaer ame?

[Question ID = 296266]

1. Shackle insulator / 771978 faegeRitrs (<fehel $w4eiex) [Option ID = 1152516]

2. Suspension insulator / feleiseT fdegeRIers (FE3=2r $=gele) [Option ID = 1152517]
3. Strain insulator / ATOT faeg R (F¢aT w¥eiex) [Option ID = 1152518]

4. Pin insulator / =T faegarrere (9T $=geiex) [Option ID = 1152519]

Correct Answer :-
« Pin insulator / T fdegeritreh (9T g=geiex) [Option ID = 1152519]

45) Which application of transformer is mandatory for all medical equipment?

Y dgTHIT ITFUNHIS! THAGIATT FIUIA 39ATerT 3rfarard 3me? [Question ID = 296267]

1. Electrical isolation / faegd 3ma@ere [Option ID = 1152520]

2. Impedance matching / ERIT Hcelel (3¥Us=q Hfear) [Option ID = 1152521]

3. Instrument extension / 39T fa¥dR (3=agH-C UFaC2leT) [Option ID = 1152522]

4, Link between AC to DC system / T&Y 31fOT St T=0ieiear=rdr ol [Option ID = 1152523]

Correct Answer :-
» Electrical isolation / fagge 3rr&TeIIeT [Option ID = 1152520]

46) Given figure indicates which type of transformer?

QTeltel ATHAIT HIOTAT FHREAT TAGIAT ST 382
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[Question ID = 296268]
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1. Core type / I3 YR [Option ID = 1152524]

2. Shell type / 2T IR [Option ID = 1152525]

3. Berry type / ST 4R [Option ID = 1152526]

4, 3 phase type / 3 %af &R [Option ID = 1152527]

Correct Answer :-
« Core type / HI3R 9K [Option ID = 1152524]

47) What is the capacitance value (pF) for 1/8 horsepower (hp) split phase motor?

2/ ¢ 3reaerardieaT (vadY) fcae $er ATHTS) GAET Aed (ARFIHS) (UUF) F 3M8? [Question ID =
296269]

1. 100 / oo [Option ID = 1152528]
2. 80 / ¢o [Option ID = 1152529]

3. 135/ 234 [Option ID = 1152530]
4.175 / 263 [Option ID = 1152531]

Correct Answer :-
e 80/ ¢o [Option ID = 1152529]

48) The quadrature pulsating rotor field reacts against the pulsating main field to produce a

FATgTaR qeRfear X fihes A vedfeer fres aaw srfdferar sy anfor fa#Tor F33. [Question
ID = 296270]

1. magnetic field / Ierehrar &1 [Option ID = 1152532]
2. induction motor torque / $8eRIeT AIeX Tl [Option ID = 1152533]
3. circular field / @] & [Option ID = 1152534]
4, resultant field / 9RO 817 [Option ID = 1152535]

Correct Answer :-
« resultant field / IROMHT &1 [Option ID = 1152535]

49) What can be used for high frequency cables as it has a low melting point?

At AP 9ide FWATIS 3TT TRARAT FATHTS! FIT AT T3 AFd? [Question ID = 296271]

1. Varnished cambric / cgTfi2rs & f&sie [Option ID = 1152536]
2. Polyvinyl chloride / dforcgiS ol FeR1SS [Option ID = 1152537]

3. Polythene / 9ifaif@sT [Option ID = 1152538]
4, Vulcanized rubber / cgehsTTsss I8X [Option ID = 1152539]

Correct Answer :-
« Polythene / gifeif@sT [Option ID = 1152538]

50) Which class of insulating materials consists of combination of materials and are accepted at
120° temperature?

Frorear Aofiear faggare arfecarear fafay ywrr arfec 3raa 3nfor q ¢:0° AUATATER TSR S1a?
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[Question ID = 296272]

1. Class E / #oft § [Option ID = 1152540]
2. Class Y / #ofr a1 [Option ID = 1152541]
3. Class H / &off T [Option ID = 1152542]
4, Class C / #oft @Y [Option ID = 1152543]

Correct Answer :-
« Class E / #0ft § [Option ID = 1152540]
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